
Fourierův rozvoj funkce

f(x) = x2

na základním intervalu x ∈ [−π, π]



Fourierův rozvoj funkce

f(x) = sgnx

na základním intervalu x ∈ [−π, π]



Fourierův rozvoj funkce

f(x) = x2

na základním intervalu x ∈ [0, 2π]



Fourierův rozvoj funkce

f(x) = ex

na základním intervalu x ∈ [0, 2π]



Fourierův rozvoj funkce

f(x) = ex

na základním intervalu x ∈ [−1, 1]



Fourierův rozvoj funkce

f(x) = |x|

na základním intervalu x ∈ [−1, 1]



Fourierův rozvoj funkce

f(x) = x

na základním intervalu x ∈ [−1, 1]



Fourierův rozvoj funkce

f(x) =

{
1
2(π − x) pro x ∈ [0, π]

−12(π + x) pro x ∈ [−π, 0]

na základním intervalu x ∈ [0, π]



Fourierův rozvoj funkce

f(x) =

{
x pro x ∈ [0, π]
0 pro x ∈ [−π, 0]

na základním intervalu x ∈ [−π, π]



Fourierův rozvoj funkce

f(x) =

{
cos(x) pro x ∈ [0, π

2 ]

− cos(x) pro x ∈ [π2 , π]

na základním intervalu x ∈ [0, π]


	animationPRA: 
	buttonPRA: 
	animationPRB: 
	buttonPRB: 
	animationPRC: 
	buttonPRC: 
	animationPRD: 
	buttonPRD: 
	animationPRE: 
	buttonPRE: 
	animationPRF: 
	buttonPRF: 
	animationPRG: 
	buttonPRG: 
	animationPRH: 
	buttonPRH: 
	animationPRI: 
	buttonPRI: 
	animationPRJ: 
	buttonPRJ: 


